Linear Angular Variable Analog KEY

Quantity or Description Linear Rotational (Angular) Bridge
position x (ory, z) 0 (or ¢)
Ax (straight line A8 i
displacement ( J ) SOMENIMES) g = pap
s (arc |en91’h) delta not shown
v where v = dx/dt (li
velocity ere e o where o = d0/dt VrEro
v = ds/dt (tangential)
a where a = dv/dt (straight
acceleration e (straight) o where o = do/dt ar = ra
or at = dv/dt (tangential)
centripetal acceleration a. = v&/r
1st kinematic vzv,+at o= o, + ot
2nd kinematic X = X, + VT + /pat? 6= 6, + o, + /pat?
3rd kinematic vz v, 2 + 2aAx ©° = o7 + 20A0
I=S=mr?
Inertia m I r:\r
dI = r'dm
Kinetic Energy Kirans = /2mv° Koot = /5T0°
The quantity that
_ F T t=r xF
causes acceleration
Newton's Second Law
. XF = ma *t=Ta
(acceleration format)
Work W=F,.r W=1,90
Power P = dW/dt = F.v P = dW/dt = 1.0
Momentum (single
, p=mv L=To L=rxP
particle)
Momentum (system) P=2p L=ZL
Newton's Second Law
' F = dP/dt T = dL/dt

(momentum format)




